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* Tofind a quarter. LO: To find equivalent fractions (2)

in find quarters of shapes, abjects and quantities. 7|1 can find equivalence through diagrams.

ww-that quarter means sharing amounts into fourequal groups. [ know- that multiplying the numerators and denominators by the sam
werstand the relationship between half of an amount and o quarter || number to-ensure that fractions are equivalent.

an amount. | understand what equivalent means.

Flashbale k

)] )] How many wholes?
(ITT1]

2)  Name the 3D shape. . - , 1] -

2)  What fraction of the shape is shaded?

3)  Complete the number sentence.
s+5+5=3x ([l

3)  Draw a shape with an area less than 7 squares.

Write twenty-nine in numerals. - _

Y Whatis 3451+ 22937 [




Here are 12 cakes.
They are shared equally between 4 plates.




Amir and Whitney are rowing from the trees to
the horses. Their route is marked by the dotted
line.

Whitney says, "I'm half way there!”
Is she correct?




I can use a bar model
@ to find a quarter.

16

)




Here is % of Ron's marbles.
How many marbles does Ron have

altogether? @)\
@ @ T3

S~ -
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Use the different representations 4 B
to find the equivalent fraction. 5710

b | b
|
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S
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What do you notice?







+ 4
7

3
S
+4

Do you agree with Tiny?
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3 _
4 16
7 _ 14
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How- can we find the missing numerators
and denominators?

_J

3 9
()20 ]

oo O



shade the diagrams to help you complete the @ ° Complete the equivalent fractions.
:quivalent fractions.

rhe first one has been done for you. u)%: = d)%: 9 9 % __ 2
1)
" [
¥ . a_ 6__3 2 _10
b) 3 =% ) g h) =25
’)
—— 3 3 8 1 4
2 o - - i _—
9%" 2= i) =38

’ [
5 [ o a) Write the fractions in the correct place on the
4 sorting diagram.
- \ s|ll2al|s|ls||lallal]2]]
draw a diagram to show that 7 = 8 @ 24 12 15 24 12 36 9 1
Vatch the equivalent fractions. @ equivalent to % equivalent to %
1 L3 10 1 odd
4 10 15 T denominator
even
3 2 2 1 denominator
21 3 5 12




b) Are any of the boxes empty?
Why do you think this is?

Talk about your answer with a partner.

Find three ways to make the fractions equivalent.

@1 = 9 B =l ) =

Eva and Ron have a baguette each.
The baguettes are the same size.

Eva cuts her baguette into 8 equal pieces.

3 of my equal
pieces are equal to
6 of Eva’s.

How many equal pieces has Ron cut his baguette into?

Use the digit cards to complete the
equivalent fractions.

, — \
11213
| R
N 3
46 8
_ J__ JU__
S S
—
—
N e/

How many different ways can you find?



f1rue Oor False ? Equivalent fractions (2)




068,022 2

LO: TO'mcaHnJ.so. a third. LO: To find fractions grmtnrﬁmn 1.

| can apply my understanding of other fractions to finding thirds. I can use manipulatives and diagrams to- show- that a fraction can he
Iknnwhawto'wri&.mtfwdasafrwwnandexplammtwhof split into- whotes and parts.
thzd.lgttsrepmsentmﬂw_fmctwnnlnﬂmttm -/WWMg‘mznmmmunggwmmdmmMmmfmm

deﬂsmdﬂmimﬂwduequaitUmPaﬂmuqfth:meq’mpmﬁ. Lsgma.tzrﬂmn?.
| ‘ | ‘ | ‘ | | understand how-many parts equal a whote.

Flasthbale k U4 Flashbalek U4 Year4 Week6 Day2

Write the next two fractions in the sequence.
I 3 5 7 3

D Is the line of symmetry correct? % D
; \ / " 1] " » Iy H] " Hl »
| o B 0 'i0'10'i0

2)  What fraction is shaded?

Name the shape. - DEYEEN | | l

Complete the number sentence. 3)  Which shape has the larger area?

y+u=yx(l IN B ]

Write 84 words. RN Subtract 386 from 1202 I




There are 2 equal halves
in one whole.

N =
M| =

This shape has 3 equal halves!

[s T‘my's WUTdLrLg correct?



1 1 There are 2 equal halves
¢ ¢ in one whole.

1| 1| 1| Thereare 3 equal thirds
3313 in one whole.

11l 1] There are 4 equal

44|23 |3 quarters in one whole.

What does the hottom number tell ws?

What are the top and bottom numhbers called

in a fracti,on?



Which of these shapes have one third




@ % is smaller than %]

.. 1. 1
I think 3 is greater than z

Who is

correct?



NN

How- many sevenths are there altogether?




aNIN

How- many sixths

altogether'?

al wn

2)

There are fifths altogether.
fifths = wholes + fifth.
There are halves altogether.

halves = whole + half.



E Improper fraction
6

12

—— =2wholes

6




(o) N e)

6
6







wholes + thirds

wholes + half

wholes + sevenths







—omplete the sentences.

1)
There are 7 fifths altogether.
7 fifths = whole + fifths
There are fifths altogether.
fifths = | |wholes +
fifths
There are quarters altogether.
quarters = wholes +
quarter

Shade bar models to represent the fractions.

Complete the number sentences.

a) 3 3= I:‘ whole + I:I thirds =
3 3

b) 8 . wholes + thirds =
3 3

8 B D whole + l:’ fifths =
5 5

Complete the statements.

12 _ 5 _
b) 2 _tholes f) i wholes
5

Y B wholes + I:I quarte
5

Whitney bakes 26 muffins.
Muffins are packed in boxes of 4

a) How many boxes can Whitney fill?

b) How many more muffins does Whitney need to fill anott

Explain how you know.

How does writing % help you to answer this?



o Write <, > or = to complete the statements. Ex [ rLS :
a) 2 wholes and 3 quarters 5 quarters
Spot the mistake.
b) 2 wholes and 3 quarters 15 quarters

15 sixths -
15 eighths -
&

c) 2 wholes and 3 sixths

d) 2 wholes and 3 eighths

00000¢

e) L &
3 5
5 20
9 L £ 15_3 = 10 wholes and 3 fifths

o Complete the part-whole models.

a) e 9 e Rosie says,

Do you agree?

e . Explain why.

™\

16 . 8
~ is greater than 5

because 16 is greater
than 8

J




frue or False °?

The diagram shows 3%




0190 2.

LO: To find a third.

|| LO: Tor count in. fractions.

fmusemy k:wwiedgeodeviszmdshamwg to find a third.

fcmwwwmfmdmgm&rthunfmanumbzr&m.

| know how- to- count in 3s.

fundzrstamithatatfurdmmtfmtthzfractwnwspmmto’3eqw
panfs.

| know how- to- make connections between myaruperandnuxednumbm*
[froctions.

fundu*standtha.tfmtwnsmbzmtt&nmnm&mnmway.

Is the line of symmetry correct?
1

1
How many sides does a square have? .

How much money is there altogether?

Is 17 odd or even?

)] Complete the sequence.

2|—|—|—E .

2)  What is the missing numerator?

2 _H

3T

3)  What is the area of a rectangle with
3 rows of 2 squares?

4) 1,000 more than - is 3,48l




Xes. Ron and Amir use an array to find
d equally onto 3 plates. of 18

s will be on each plate?
8 e Ao Aok

8 8 8 9"
. 8 0 0 0




e
Annie uses a bar model to find % of 21







Jack has one third of his birthday money left.

Dora has half of her birthday money left.
They both have £10 left.

What do you know?  What can you find out?
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ways to answer this.

[I can think of three diﬁerentga H ‘D




|
{5— - S
04

Who will reach 3 wholes first?

e

Bl

J




]
‘omplete the number lines. @

) 27 12 7
i | | i i
2 3 11 I 1 1 f T
5 5 5 2
| | | | | | 1&
| | I I I | 5
[ EENT] OoTm [EEEEE]
LS o Write the next three fractions in each sequence.
)
1 2 3
2 3 o= = =i
1£ i ' g
a 2 2 8' 8" 8
I | ; I l I Gl 5o
| [EIEEE) EEEE EEES 4' 4’ 4°~
BN T] ) |0 2 =
33 13-
omplete the number lines. Y 5
) S0
2 3 4 7 What is the missing fraction?
3 3 3 3 o B
} % } I } { Give two possible answers.
2 12 ]
5 1 3 2 a) 8, 12 16, 20, , 28, 32
3 3 3 3 3 3
) ]
b) g’ 12’ El El r El‘ 2
5 5 5 5 | |5 s
3 5 9 —
1 H | i | | 98, 12,16 2 | | 28 32
I 1 1 I I | 7 7 7 | 7 7
3 5 2 4
) 7 4 L 74 ! 7



o Amir, Dexter and Dora are counting in fractions.

1
10° 10

1

1

3ls

The next fraction

is 12
10

Amir

The next fraction

is 1.2
10

©

Dexter
The next fraction

is 11
5

a) Who is correct?

Explain your answer.

b) Compare answers with a partner.

Here is a number sequence.

10 14 19

59 " T e T P

Which fraction would come next?
Can you write the fraction in more than
one way?

Circle and correct the mistakes in the
sequences.

11 15 17

9 1p "1 18 *ip



Extension

Play the fraction game for four plavers,

Place the four fraction cards on the floor.
Each player stands in front of a fraction.
We are going to count up in tenths
starting at O

When you say a fraction, place your foot
on your fraction.

1 z
10 10
=) (5

10 10

How can we make 4 tenths?

What is the highest fraction we can count
to?

How about if we used two feet?



True Oor . False °?

Rosie has counted correctly in sixths along

a number line.




110101212/ 2

LO: To understand what a unit fraction is.

[ can link this to-my krwwio_d.‘ga#haiw_s, q,um‘lzn|and. thirds.

LO: To add fractions.

Ikrwwﬂwtbﬁzdmmmm,tormpmsentsthznumbzr#/:mts tha.ta,shape
orqua.nti.tyr;ssputm.tat

| can add two or more fractions with the same denominator

| know how- to- use a. bar model.

fwmdusta.ndthzwmzptqfawutfmcuonbymcogrus@ Lta,somegu,ai
pa.!tofa.wh,oie.
|

| Iunderstand,b‘w,tha'rdy add the numerators and the denom.

stay the same.

)] Which shape is the odd one out?

2)  Which shape has 5 sides? [
3)  Is38odd or even? o

Y) Write the number made in Base 10

Year4 Week6 Day4

Flashbalk

)] Find the sum of ; and % I

2)  What is the missing denominator?

3 R
sl

3)  What is the area of the shape?

4)  Add 392 and 1,509 together. -



What fraction of these squares has
been shaded?




What fraction of each shape is shaded?

&
&K

What is the fraction called when there is a1 in the numerator?




A unit fraction is a fraction where the
numerator is 1

1

? Have a think m

Does this represent a unit fraction?

1
73

A unit fraction is a fraction where the
numerator is 1

1

? Have a think m

Does this represent a unit fraction?

~ ~
r g N
." \
\ /
\ y
M _

A unit fraction is a fraction where the
numerator is 1

1

? Have a Thinkm

Does this represent a unit fraction?

2
73

A unit fraction is a fraction where the
numerator is 1
1

? Have a think m

Does this represent a unit fraction?

6 6@



A unit fraction is a fraction where the
numerator is 1

1

? Have a think 0

Does this represent a unit fraction?

L 6
YA






NN

N B

2+4=6
7+7=14

. b
So the answer is 12

Do you think that Tmy Ls n’ght?



II
o)

5
E‘ ..
U g

2hundreds+ 4 hundreds = 6 hundreds

<

2 sevenths + 4 sevenths = 6 sevenths

<
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You can use each digit card once per solution.
How many solutions can you find?




Complete the additions.
Use the bar models to help you.

I
"
d) %+%=

Shade circles like this one to help you
complete the additions.

|
T

Complete the part-whole models.
) . ’ .

=]
=
00 | =

o
oo|w
+
oo |w
1

oo |w

o
-
oo |
+
]
oo |un
+
00w
]

00—

O

Which part-whole model is the odd one out?

Talk about your choice with a partner. Did they choose th
odd one out?

Alex and Huan are eating a cake.

Alex eats % of the cake.
Huan eats % of the cake.

What fraction of the cake have they eaten altogether?

Teddy is adding fractions.

a) Draw a bar model to show that Teddy is wrong.

0

FLY]

b) Complete the addition % +



o Annie has baked 12 muffins.
She puts them into 2 boxes.
What fraction of the muffins could she put in each box?
Complete the table to show different possibilities.
One has been done for you.

1

12

-
-

ey
N

Are there any other possibilities? Talk about it with a partner.

o Complete the additions.

3.4 3,4
L 9 703 * 103
3 4 5 9
B)3*g 37+ 3
c)i+i f)i.‘.i



Rosie and Whitney are solving:

Extension

4+2
i

Rosie says,

@ J The answer is g

)

Whitney says,

.6
The answer is —
- 14

Who do you agree with?
Explain why.

Mo and Teddy share these chocolates.

They both eat an odd number of
chocolates.

Complete this number sentence to show
what fraction of the chocolates they
each could have eaten.

12
_+_=_
12



frue .orf False ?

When you add fractions you add the

numerators and the denominators.

3

t5%0o

!
5




)] Which shape comes next in the pattern? ) What is g =9 .

CYNICNICYNIE

] k u Year2 Week6 Day5 :F | qQ s h bu k u Year4 Week6

How many wholes are there?

2)  How many vertices does a triangle have? I LLLL LTI T]

1 I I I
Find the difference in the area of the sl s.
3) Whatisis =52 [l hepe

Round 472 to the nearest hundred. -

4)  Which 2-digit number has 5 tens and 3 ones? [





































